
Partdrawing for  GA9050 - Pagina 1Partdrawing for  GA9050 - Pagina 1Partdrawing for  GA9050 - Pagina 1Partdrawing for  GA9050 - Pagina 1

1



Partdrawing for  GA9050 - Pagina 1Partdrawing for  GA9050 - Pagina 1Partdrawing for  GA9050 - Pagina 1Partdrawing for  GA9050 - Pagina 1

2

Nr. Part nr. Name

001 451485-7 PIN CAP GA9050R

002 233292-8 COMPRESSION SPRING 12 GA9020S

005 213487-9 O RING 31 AF550

006 264010-3 HEX NUT M7 GA5021(C)

007 227563-3 SPIRAL BEVEL GEAR 10B GA9050R

009 257965-9 RETAINING RING R-32 GA9050R

010 240120-0 FAN 80 GA9050R

011 518747-7 ARMATURE ASS'Y 240V GA9050R

012 681657-2 INSULATION WASHER GA9050R

013 210059-1 KOGELLAGER HR4000C SPECIAAL

014 421490-8 RUBBER RING 1805B

015 451480-7 BAFFLE PLATE GA9050R

016 527700-2 FIELD ASS'Y 240V GA9050R

017 266389-8 TAPPING SCREW 5X70 UC3020A

018 140222-1 MOTOR HOUSING COMPLETE GA9050R

019 643700-5 KOOLBORSTELHOUDERDOP A

020 191957-7 AC CARBON BRUSH CB-204 4112S

021 867561-1 GA9050 NAME PLATE

022 188848-1 HANDGREEPSETGS5000

023 645088-9 NOISE SUPPRESSOR GA9020S

025 650102-8 SWITCH GA9020

027 687169-3 STRAIN RELIEF HP1620-GA9020(S)

028 682574-9 CORD GUARD 10-90 PC5000C

029 665865-3 NETSNOER 2X1.50 2.5MTR P

030 188848-1 HANDGREEPSETGS5000

032 213026-5 O RING 7 SA7000C-GA9010C

033 256516-5 SHOULDER PIN 11 GA9050R

034 263002-9 RUBBER PIN 4 9554NB/55/9558NB

035 210029-0 BALL BEARING 608ZZ JR3050T

036 233925-5 RING SPRING 13 6413

037 227561-7 SPIRAL BEVEL GEAR 49 GA9050R

038 285851-4 BEARING RETAINER GA9050R

039 911128-8 SCREW M4X16 2012NB-2704-KP0800

040 211241-5 BALL BEARING 6202DDW MT812

041 213720-9 O RING 67 GA9010C

042 922221-3 HEX SOCKET HEAD BOLT M5X16

043 318523-7 BEARING BOX GA9050R

044 140224-7 SPINDLE COMPLETE GA9050R

045 122891-0

046 224415-9

047 224543-0

003-1 266012-5 TAPPING SCREW FLANGE 5X35

004-1 143016-3 GEAR HOUSING COMPLETE

008-1 211137-0 BALL BEARING 6201LLU TW1000

026-1 266192-7 TAPPING SCREW 4X14 2704-7104L

031-1 265999-8 TAPPING SCREW FLANGE 4X25 6827



Partdrawing for  GA9050 - Pagina 1Partdrawing for  GA9050 - Pagina 1Partdrawing for  GA9050 - Pagina 1Partdrawing for  GA9050 - Pagina 1

3

Nr. Part nr. Name

048-2 805W68-7 CLEAR LABEL


